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Questions

He seized control of the country

In order to raise the company profit, the employees

The more we looked at the price of modern art

Usually your work very hard

i would not have helped such an ungrateful man.

I shall not be late for dinner

To succeed in a difficult task

The Chairmen rejected the proposal of increasing employees salary because:

He always stammers in public meetings, but his today's speech

With great difficulty,

Answers Choice

A. By using diplomacy and force

B. By diplomacy and being forceful
C. By being a diplomat and forceful
D. Not only because of diplomacy
force

A. Decided to raise the cost of raw
material

B. Requested the management to
implement new welfare schemes

C. Demanded two additional
increments

D. Decided to go on paid holidays
E. Offered to work over time without
any compension

A. We liked it less

B. The less we liked it
C. it looked better

D. The more we like it
E. Better we liked it

A. You are not being successful
B. You will not be successful

C. You ought to be successful
D. You be not successful

A. Had i been in your place

B. Even after knowing that he was
ungrateful

C. Had | asked him for his help

D. Through he did not deserve any
help at all

E. If he had shown due respect to me

A. Unless the train will be late

B. Unless the train will not be late
C. If the train is late

D. Unless the train is late

A. You need a person of persistent
B. One needs to be persistent

C. One needs to be persistence

D. Persistent is needed

E. Persistent is what one needs

A. The company had already gained
three thousand crore profit

B. The company did not have
sufficient funds to afford the rise

C. The number of employees in the
company was very small

D. The employees had been
demanding it for a long time

E. It was not difficult for the company
to bear additional burden

A. Was not liked by the audience

B. Was not received satisfactorily

C. Was surprisingly fluent

D. Was fairly audible to everyone
present in the hall

E. Could not be understood properly

A. He could keep his cool

B. He could get annoyed

C. He could not tolerate his
nonsense

D. He could lose his temper
E. He could perform his usual
functions easily



